3 Homework 2 (due Sept. 10) Name: So LV o/\)S

The purpose of this homework is to examine the standard form of a linear programming
problem, and the pivot operation that allows one to find a basic feasible solution to a

problem.
Reading: Sections 3.1 and 3.2.

1. Problem set 3.1, question 2 (page 60)
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2. Problem set 3.1, question 3 (page 60)
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3. Problem set 3.1, question 4 (page 61)
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e part (b) [for this part, illustrate the set of feasible points on a graph]
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4. Problem set 3.1, question 7 (page 62) [here’s what this question is asking: show that
for any feasible point for Problem A, there’s a corresponding feasible point for Problem
B with the same objective value, and vice-versa. This problem shows that if you have
a bunch unrestricted variables, you can put them into standard form simultaneously
with the addition of a single new variable.]
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5. Problem set 3.2, question 1 (page 70)
e part (a)
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6. Problem set 3.2, question 2 (page 71)
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7. Problem set 3.2, question 3 (page 71)
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8. Problem set 3.2, question 6 (page 72)
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9. Problem set 3.2, question 9 (page 72)
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